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o C=AB%*} :éi‘d‘é
Clr,t] = ZA[r s| Bls, t]
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Clr,t] = )  Alr, s] B[s, ]
s=1

o |Alr,s]|,|Bls,t]| =M, L:=len(M)
o CDEE|A[r,s]Bls, tl| = M2, [Clr, t]]| = MPm =M’
e M=M#ZxRETH:WPAIZlen(m) = len(M) =L
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Clr,t] =) Alr,s] Bls, ]
s=1
o RSL DEZ[/EMESLODER: m’[o

> 0(m?3 L?)
o Rlen(W) DZBEREBDINME: m’[o
len(M’) = 2L+len(m) = 3L =0(L)>0O(m3L)
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® Crt]l= ZA[?“, s| Bls,t| (mod n)

s=1

® ('rt]l = ZA[T, s| B[s,t] (mod n)
s=1
MDD -n2=CI[r,t]<n/2,n>2 M 155X
Clr, t]=Clr, t]
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o C[r,t]=C[r, t] BARRYILDIE
o C[r,t]=C[r, t] (mod n) &Y n|(C[r,t]-C[r,t])
o —AT.|Clntl]|<M KUY
IClr, t] - C'[r, tl| = |C[r, t]| +|C’[r, t]]
S M+n/2<n/2+n/2=n
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= (C[r, t] - C[r, t]) =0, £2TClr, t] =C[r, t]
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o n=n,..n>2M=2Mmzimf=L, D OLE
R/INEDKESIZELEIICkETFESE
len(n) =len(n,...n )=len(n ) +...+len(n)

=1+...+1=k=0(len(M’)) =0O(L)
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A A, B € 2™ with |A[r, t]], |Blr, t]| =M

HH:C=AB

1. n=n_...n,n>2M=2Mm, Vizj(n L nj.)’&
=9 n ..nZERHD
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2. fori € [1..k]do
forr € [1..m] do
fort € [1..m] do
Alr, t] « Alr, tf mod n;
Blr, t] « Blr, tf mod n ;
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3. fori € [1..k]do
forr € [1..m] do

fort € [1..m] do

Ci|r, t] < (Z A;lr, s] Bi[s,t]) (mod n;)
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4. forr € [1..m]do
fort € [1..m] do
Clr, t] « ChineseRemainder(Cl[r, tfmod n.,
..., C[r,t] mod nk)

5. return C;
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AT A B € 2™ with |Alr, t|, |Blr, t]| = M

H:C=AB

L n=n...n,n>2M=2Mm, Vi#j(n, Ln)%i

=3 n,..n ERDHD
N, ..., n <lZBHMCHRDHTHL=
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2. fori € [1..k]do JL—7 k [8] = O(L)

orr € [1.m] do o
l/_
Qrt = [l..mi -: — —

1r, t] « Alr, tf mod n;;
Blr, t] < B[r,tf modn;
RS L DEZBERATEHFENTENS: O(L)
(BELLIEXxMmE)

Step 2 D& & O(m? L?)
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3. fori € [1..k] do JL—7 k8] = O(L)
@’E [lm] do )l/—jo mz IE
fort € [1..m]do

Ci[r, t] + (Z A;[r, s] Bi[s,t]) (mod n;)

s=1

BEREE EE mE+ MNE m-1E=0(m)

Step 3 M &Et: O(m° L)
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4 forr € [1..m] do E—
gorte[l..m]d AR

Clr, t] « ChineseRemainder(Cl[r, tlmod n.,
..., C[r, t] mod nk)

5. return C;
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Step 4 D& &t: O(m? L?)
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Algorithm (FEFIREXICLH1THIIR)
Step 1: %L

Step 2: O(m?L?)

Step 3: O(m°L)

Step 4: O(m*L?)

B&f: O(m’L+m?L?) < 0O(m’ L% (IEERDEE)
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9 7 —6 7 3 11
A=|-8 -3 10|, B=|-12 9 -6
8 —10 7 8 -3 9

M=12,m=3=2M*m=2x122x3=864<n,

n=n_...n,Vizj(n nj)

=9 n,..nERHDE
k=3,n,=9,n,=10,n,=11,n=9x10x 11 =990
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0 -2 3 2 3 2
Amod9=11 -3 1|, Bmod9={-3 0 3
-1 -1 =2 -1 -3 0

FY(BAE [-4.4] DERERTRLTVDILEITER)
AB mod 9 = (A mod 9)(B mod 9) mod 9

i

W = W
L O O
=~ DN O
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RIHRICLT
AB mod 10 = (A mod 10)(B mod 10) mod 10

o —2 3
=12 -1 0
0 3

1
AB mod 11 = (A mod 11)(B mod 11) mod 11

3 -2 3
=|-4 -4 -2
-1 1 2
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ABmod9,ABmod 10, LU ABmod 11 &Y.
FEEREEZZHANVTERNZETTT HEITKY

~-195 108 3
AB=| 172 -81 20
2

A=
zts 120 —87 211
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